=6x1072%x98x%x1=058]
=515,V e 45 o) Bl

=0.58 —0.14 = 0.44J

Slanadl: sl 1)
m = 2.5kg & h=14m
;g
PE = mgh

=25x98x14=34.3J
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KE, = §KE1

By e 3l = gl ) adl) el s V) el o -JgV ol - 25
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vy =4m/s & vy =6m/s & m = 55kyg

W =AKE=KFE;, - KFE;

1 1
= §mvg — imv%

1 1
=§x55x§—§x55xf

=990 — 440 = 550J

Slanallz gl Jigedl

v=14m/s
g

PE=KE

mgh = imv2

1
98xh=§x1£

9.8 x h =98

98
h=2—-10
o8 "

Slanodl: el J15)
PE =4.9J
el
PE = mgh
49=1x98xh

49
h=="205
98 mn

llandl: gl iz
m =4kg & h =2.5m
el

KE =PFE

2
= = mgh
5 X MY" =myg

v = 2gh

=2x98x25=149

Vo2 = /19

v="Tm/s

oz I Jigdt
m =4.5kg & h=1.5bm
el

PE = mgh

=4.5%x98x1.5=066.15J

Slanallzml I s

m=6x10"%kg & h=1m

PE = mgh



